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15.

16

17.
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18.
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= 6000 + 20
= 8084 + 698
163 =100 + +3
+7=7001
461,012 + 5,954 =
3200+ 8=
9,140 - =9,015
6+5x4=
741 x 16 =
. 79792 + 16 =
=0.401 x 1000
3 _ 1 _
4 5
133 -
. 65% of 400 =
3
— = 5=
7
. 4098 - 100 =
6.65x6 =

|
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Y5 and Y6 homework
Due in: 1%t March

Name:




19. 15,784 - = 11,579

20.62.8+5.28 =

+
I
|

1
21. —
3
22. =345x26
3
23. — x350=
7
24.66.1—8.98 =

25.

N
+
NN
I

26. 11.1-37=

2 2
27. 7= + 1= =

28.232 =

29. 2% of 165 =

30. + 1000 = 0.04

31.19.04x7 =

32. Write 7 as a mixed number

33. 16-16+8 =




